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  logarítmicas	
  
	
  

La	
   inversa	
  de	
  una	
   función	
  exponencial	
   se	
   conoce	
   como	
   función	
  Logaritmo	
  Natural;	
   su	
  dominio	
   son	
  
todos	
  los	
  reales	
  positivos	
  y	
  su	
  rango	
  todos	
  los	
  números	
  reales.	
  

PROPIEDADES	
  DE	
  UN	
  LOGARITMO	
  NATURAL	
  

a) ln 𝑥𝑦 =    ln 𝑥 + ln 𝑦	
  
	
  

b) ln !
!
= ln 𝑥 − ln 𝑦  	
  

	
  
c) ln 𝑥! = 𝑦 ln 𝑥	
  
	
  

d) lim!→! ln 𝑥 =   ∞	
  
	
  

e) lim!→!! ln 𝑥 =   −∞	
  
	
  
	
  

DERIVADA	
  DE	
  UN	
  LOGARITMO	
  NATURAL	
  

𝑫𝒙 𝒍𝒏  𝒙 =
𝟏
𝒙
	
  

	
  

𝑫𝒙  
𝟏
𝒖
=   
𝟏
𝒖
𝑫𝒙  𝒖	
  

Ejemplos:	
  

1)  𝑫𝒙   𝒍𝒏 𝒔𝒆𝒄  𝟒𝒙 	
  
	
  

=   
1

𝑠𝑒𝑐  4𝑥
𝐷!   (𝑠𝑒𝑐  4𝑥)	
  

	
  

=
sec 4𝑥 tan 4𝑥  𝐷!   (4𝑥)

sec 4𝑥
	
  

	
  
4 sec 4𝑥 tan 4𝑥

sec 4𝑥
= 4 tan 4𝑥	
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2)  𝑫𝒙   𝒍𝒏  𝒔𝒆𝒏  𝒙 =    !
!"#  !

𝐷  !(𝑠𝑒𝑛  𝑥)	
  
	
  

=   
𝑐𝑜𝑠  𝑥
𝑠𝑒𝑛  𝑥  

= 𝑐𝑜𝑡  𝑥	
  
	
  
	
  
	
  

3)  𝑫𝒙   𝒍𝒏 𝒔𝒆𝒄 + 𝒕𝒂𝒏  𝒙 	
  
	
  

=   
𝐷!   (  𝑠𝑒𝑐  𝑥 + 𝑡𝑎𝑛  𝑥)
𝑠𝑒𝑐  𝑥 + 𝑡𝑎𝑛  𝑥

	
  

	
  

=   
sec 𝑥 tan 𝑥   +   𝑠𝑒𝑐!  𝑥

sec 𝑥   + tan 𝑥
= sec 𝑥	
  

	
  
	
  
	
  

4)  𝒅
𝒅𝒙

𝒍𝒏  (𝟐𝒙) 	
  
	
  

=
1
2𝑥

𝑑
𝑑𝑥
(2𝑥)	
  

	
  

=   
1
2𝑥

∗ 2 =   
2
2𝑥

=   
1
𝑥
	
  

	
  
	
  
	
  
5)  𝒅

𝒅𝒙
𝒍𝒏 𝒙𝟐 + 𝟏 	
  

	
  

=   
1

𝑥! + 1
𝑑
𝑑𝑥

𝑥! + 1 	
  
	
  

=     
2𝑥
𝑥!!!
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6)  𝒅
𝒅𝒙

  𝒙  𝒍𝒏  𝒙 	
  
	
  

= 𝑥  
𝑑
𝑑𝑥

ln 𝑥 + ln 𝑥
𝑑
𝑑𝑥
(  𝑥)	
  

	
  

= 𝑥  
1
𝑥
+ ln 𝑥   1 = 1 + ln 𝑥	
  

	
  
7)  𝒅

𝒅𝒙
𝐥𝐧𝒙 𝟑 	
  

	
  

= 3 𝑙𝑛  𝑥 ! 𝑑
𝑑𝑥

𝑙𝑛  𝑥 	
  
	
  

= 3 𝑙𝑛  𝑥 ! 1
𝑥
	
  

	
  
	
  

8)  𝒇 𝒙 = 𝒍𝒏   𝒙 + 𝟏	
  
	
  
	
  

𝑓 𝑥 = 𝑙𝑛(𝑥 + 1)! ! =   
1
2
𝑙𝑛 𝑥 + 1 	
  

	
  

=
1
2
𝑑
𝑑𝑥
𝑙𝑛 𝑥 + 1 +   𝑙𝑛 𝑥 + 1

𝑑
𝑑𝑥

1
2
	
  

	
  
	
  

=   
1
2
∗   

1
𝑥 + 1

𝑑
𝑑𝑥

𝑥 + 1 + 0	
  
	
  

=
1

2(𝑥 + 1)
	
  

	
  
	
  
	
  
	
  
	
  

Aplicando leyes de logaritmos 
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9)  𝒇 𝒙 = 𝒍𝒏   𝒙  (  𝒙
𝟐!𝟏)𝟐

𝟐𝒙𝟑!𝟏
	
  

	
  

𝑓(𝑥) = 𝑙𝑛  𝑥 + 2  𝑙𝑛 𝑥! + 1 −   
1
2
  𝑙𝑛 2𝑥! − 1 	
  

	
  
	
  

𝑓´ 𝑥 =
1
𝑥
+ 2  

2𝑥
𝑥! + 1

−   
1
2

6𝑥!

2𝑥! − 1
	
  

	
  

=   
1
𝑥
+   

4𝑥
𝑥! + 1

−   
3𝑥!

2𝑥! − 1
	
  

	
  
	
  

DERIVADA	
  DE	
  FUNCIONES	
  LOGARÍTMICAS	
  EN	
  BASE	
  a	
  

	
  

PROPIEDADES	
  DE	
  LA	
  FUNCIÓN	
  LOGARITMO	
  EN	
  BASE	
  a	
  

1. log! 𝑥 =   
!"    !
!"    !

	
  
	
  

2. log!(𝑥𝑦) =    log! 𝑥 +    log! 𝑦	
  
	
  
3. log!

!
!
=    log! 𝑥 −    log! 𝑦	
  

	
  
4. log! 𝑥! = 𝑦   log! 𝑥	
  
	
  
5. lim!→! log! 𝑥 =   ∞	
  
	
  
6. lim!→! log! 𝑥 =   −∞	
  
	
  

	
  

	
  

	
  

Aplicando leyes de 
logaritmos 



	
  	
  	
   	
   	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  

Producto	
  Integrador	
  
	
  

Derivada	
  de	
  funciones	
  logarítmicas	
  
	
  

DERIVADA	
  DE	
  LA	
  FUNCIÓN	
  LOGARITMO	
  	
  EN	
  BASE	
  a	
  

𝑫𝒙(𝐥𝐨𝐠𝒂 𝒙) =   
𝟏

𝒍𝒏  𝒂 𝒙
	
  

	
  

𝑫𝒙 𝐥𝐨𝐠𝒂 𝒖 =   
𝑫𝒙𝒖
𝒍𝒏  𝒂 𝒖

	
  

Ejemplos:	
  

	
  

1. 𝑫𝒙(𝐥𝐨𝐠𝟑 𝟒𝒙 )	
  
	
  

=   
𝐷!(4𝑥)
(𝑙𝑛3)(4𝑥)

=   
1

(𝑙𝑛3)(𝑥)
	
  

	
  

2. 𝑫𝒙(𝐥𝐨𝐠𝟐 𝒔𝒆𝒏  𝒙 )	
  
	
  

=
𝐷!(𝑠𝑒𝑛  𝑥)
𝑙𝑛  2  𝑠𝑒𝑛𝑥

=   
𝑐𝑜𝑠  𝑥

𝑙𝑛  2 𝑠𝑒𝑛  𝑥
=   
𝑐𝑜𝑡  𝑥
𝑙𝑛  2

	
  

	
  
	
  

3. 𝑫𝒙(𝐥𝐨𝐠𝟓 𝒔𝒆𝒄  𝒙 )	
  

=
𝐷!  (𝑠𝑒𝑐  𝑥)
𝑙𝑛  5 𝑠𝑒𝑐  𝑥

=   
𝑡𝑎𝑛  𝑥
𝑙𝑛  5

	
  

	
  
4. 𝑫𝒙(𝐥𝐨𝐠𝒂 𝒙𝟐 + 𝟑𝒙 )	
  

	
  

=
𝐷! 𝑥! + 3𝑥
𝑙𝑛  𝑎 𝑥! + 3𝑥

=   
2𝑥 + 3

ln 𝑎 𝑥! + 3𝑥
	
  


